20128 &

S0l &t 2 Eh3 |

-|/\-| J_)-I'

NgE A4 -

M

= 0l & Al

3 Al

A

- MEc
SM-BH-H2A(FAH) - MIRAY - BES +oH 'oﬂ/'\_FOH Hns2
A& 13,626,021 8,781,184 4,844,837
= 2,476,000
Z 80,000
= 220,000
Al 10,850,021
ge HA - SEH 13,559,585 8,715,748 4,843,837
= 2,476,000
= 80,000
[ 220,000
Al 10,783,585
EIES(PSEal 2,055,880 1,410,880 645,000
= 1,400,000
[ 180,000
Al 475,880
LS YA HES ALY 1,000,000 1,285,000 285,000
= 700,000
== 90,000
Al 210,000
401 AlEHIZL S 1,000,000 1,285,000 A 285,000
= 700,000
[ 90,000
Al 210,000
01 Al&HI 996,400 1,280,374 A283,974
Ogel=84¢=x B2 Ab (L=770m)
996,400,000 * 14! 996,400
= 700,000
== 90,000
Al 206,400
03 Al& 2 0HH] 3,600 4,626 A1,026
Ogel=2YxN MEs AIE2UbI
1,000,000,000& *0.36% 3,600
YA 23 =232 55,880 125,880 A70,000
201 L2 A 2,880 2,880 0
02 2229l 2,880 2,880 0
Oti£=2& XNSHEAE IS
40,0002 *6IH A * 122 2,880
301 YBHB AR 3,000 3,000 0
12 J|Et2 A2 3,000 3,000 0
OY X H 22 SaA (X2 YR 100L)
300,0002 * 121074 A 3,000
401 AlEHIZ 8 50,000 120,000 A70,000
01 Al &I 50,000 120,000 A70,000
OXg2eaxr 28222 (10014)
5,000,000 * 100 & 50,000
SCHRYUIH HES A Y 1,000,000 0 1,000,000




S A
DU NYE A4 -

el EZME

o
e
0

S BB SR (B) - NEAY - BAS 0f & o Soe DB
= 700,000
< 90,000
Al 210,000
401 Al HIZL S HHI 1,000,000 0 1,000,000
= 700,000
= 90,000
Al 210,000
01 Al Hl 996,400 0 996,400
OSZERYEM HE A (L=833m)
996,400,000 * 14! 996,400
= 700,000
= 90,000
Al 206,400
03 Al& 2 CHY| 3,600 0 3,600
OSTHRYZH HE2 ALY
1,000,000,000& *0.36% 3,600
TZANEES 22 968,796 1,668,028 A699,232
2 RN 2+ 22 639,114 759,649 A120,535
101 el 24 Hl 22,034 22,034 0
04 12N 22 NHsSE+ 22,034 22,034 0
OZRNE=HY 2Y 22,034
—oey 45,5503 +4H 100 18,220
—2tAlH| 2,000% *4H 100 <22 1,600
—5liE2E8 = 2,214
=UALEEE 18,220,000 *2. 54% 463
=028 = 18,220,000 *4.5% 820
NESES 18,220,000 *1.5% 274
MHEEZ 18,220,000& *3.483% 635
LRI AEEE 458,000 x4.78% 22
201 YEr2 Y| 70,400 23,460 46,940
01 AtR 22l 53,000 11,100 41,900
Oget==t| 500
—L84, 8IS U 28 24 M
= 50,0003 *5JH A= #2353 500
O=gHl 4,200
—LAHS 2 Zolii = S20Abl
7,000 x10Z 60 4,200
ou =l 1,000
—=Z2¥ HY=s FL(58) 100,000&*10< 1,000
ogxs 47,300
—E28 =+ & ZolitH® FHl Xt 47,300
Jtn3elel 550,000 »2 1,100
-« XA 550,000& »4& 2,200
- =4 550,000& »10CH 8 44,000
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SN AL
E: NYE AN - SEF

= E_E/\I’é‘_%aj’.;+ | N (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
02 2324l 17,400 12,360 5,040
Oz532= 2 HAl 1,920
—A8u HHELD dot=E 23
30,0003 1 %123 360
-4 D HIIRs
120, 0003 1D A+ 122 1,440
—CZ2ZH OIENSA 282
120,000& *1CH 120
OA&EHl |Xdl 15,480
—0IEXs A =Xl 300, 0003 *1CH 300
—22d | XIHI(10&0lI3dt) 500, 000 *1CH 500
—LHEHD| |XH 500, 000 *1CH 500
— 20| 7Alb 200,000 3 CH 600
—0lF2l =Xbl 100,000& 4 CH 400
—Z2efa )| X 300,000 *5CH *50% 750
—H&J| 7Xb 300, 000& *9CH *30% 810
—U=s8 222X |
1,000, 000 *5CH *50% 2,500
—XIAX =X 500, 0003 *1CH 500
—H&J DR48g 2 300, 000& +5CH 1,500
—C2FHE ¥ RFH 7,120
FLS(OIAZY 58)  1,700& 2,000 £ 3,400
AR OIAHEE 28) 1,500& *2,000 £ 3,000
2E87 3,000& *42| & +60 720
206 T 2 bl 73,680 72,155 1,525
01 M Z 4l 73,680 72,155 1,525
OEZ2E+E UM+ 73,680
—dh==2AE 401 35,0003 *10= 350
—2XE ZAA 25,000& *120m 3,000
—48 NAEY 9,000& *180m’ 1,620
—H£E8 datzs 2 250& 50, 000kg 12,500
—HeEE &3 7Y 200& %100, 000kg 20,000
-2 S22 ZH0tAZ
17,0003 200 3,400
—&oliH2 MAte X P.PEH
100& 45,000 4,500
—&oHCHE XALE 350,000 *10H 3,500
—Solllid & BEEE Ex2 2247
17,000& 280 m’ 4,760
—HZHEEZ B2 =M £ 427
20,000& =150 m’ 3,000
- SXE EAZE HUEFY 2,800
- BH M 6,000& 2002/ & 1,200
- 8,000& 2002 & 1,600
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fA AL
XEH: K| gt

. T Z2AEZE 22 (¢t &
SA BB .S (BH) - MBEAY - B2 Of) & 04 gggﬁ SmE=L
—0tA2 € S 9,550
- HES 78 70,000& x120& 8,400
- RSC-4 115,000& x10E & 1,150
—AHIE ¢! 5,000& *300% 1,500
— A& RHE Ex-NE 7Y 40,000& *80= 3,200
307 BI2t0| ™ 78,000 52,000 26,000
05 DIZtREZ 78,000 52,000 26,000
OL&A, CAMaNXIZ &S U2 E 78,000
— 0ol 1,300,000& x5« 1201 & 78,000
401 AlEH|IL 24| 395,000 590,000 A 195,000
01 Al &HI 395,000 590,000 A 195,000
OIS FOHQl HOlAIM HY|(ERE2S)
30,000,000& » 14! 30,000
Olstol 22X A CHH(HE=EHYS)
10,000, 000& 1Al 10,000
OFSUHY SE0l(HH=7 &X) 10,000
Ok ¢ It s =X& bl
500, 000& x100JH 2~ 50,000
OEXE O|H(HH)AHI 25,000,000& * 14! 25,000
ONM&EXEE s HETLEH &X
130,000, 000& » 1Al 130,000
OAE I NIHELD ZHl SAt
50,000,000 * 14! 50,000
OAEM XMHERLD UBHE cctvA X
10,000, 000& 1Al 10,000
OBAABTE= o AHA DA
50,000,000& 14! 50,000
O0lHER T2AIRZE ZH|(3MA)
30,000,000 » 14! 30,000
TzHEg I3 329,682 829,682 500,000
201 dBF2HH| 22,022 22,022 0
01 At 22| 1l 22,022 22,022 0
Ogt=Z2H| 20,342
—CZHAZX 0|MED| EEE 2= £
=2 14,0002 30021 4,200
—JIRHY, 8THN 28 SY¥+4E8
300, 000& 2024 6,000
—=R M SAHSE =42 500,000& *102A 5,000
—C2EE= A 2F0 2 SIES=2
g =2 1,200& *100AH 120
—CZ2dEEZ A 230 2 =2LSK =
== 2,000& %1004 200
—ABYD AHY [ 2AQK A4
200,000& 14! 200




SN AL
E: NYE AN - SEF

&SR SZ2AEE 22 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
—ZAAHETEZ AAHE SE30 E eIt
PNE= 2,000, 000& 14 2,000
—S204, B4 AR FA SASX 2
2 20,0003 x58f A %123 1,200
—di0ld =gy EY ¢
237,000& »2CH *33] 1,422
O=&l 1,680
—maEel 9 £ 22 X 22044
]l 7,000& x5 +43|x 12 1,680
202 o4 4l 2,610 2,610 0
01 =2 A 2,610 2,610 0
SHYUPFE 220 261,000& 2 x23] 1,044
OasgRFE 22104l 261,000 2% =33 1,566
305 a2 S 105,050 105,050 0
01 & =S 105,050 105,050 0
ORY0IS= e AEs 28 T2AMEER
S(ZHA, &R S) 105,050, 000& * 14 105,050
401 A& HIS 2 CHYI 200,000 700,000 A500,000
01 Al£HI 200,000 700,000 A500,000
ORY0IS2 e Ras 2H(E2RAN) 2
&AHd| 200,000,000& » 14 200,000
ZANEE &= 4,096,208 1,736,840 2,359,368
= 1,076,000
& 80,000
Al 2,940,208
HAAANEE B 20,000 20,000 0
403 XXM S X201 ™ 20,000 20,000 0
01 HXHH =2 x 20,000 20,000 0
ORUHFTAHIS NEESHI(SIFIEI AL
5,000, 000& 4 2 %13 20,000
WEAD 2 =2 W 160,000 150,000 10,000
= 80,000
Al 80,000
401 A& HIZ 20| 160,000 150,000 10,000
& 80,000
Al 80,000
01 Al£HI 160,000 150,000 10,000
ORSAD SR HE AP (200 A)
160,000, 000& » 14 160,000
= 80,000
Al 80,000
SEad ANdES 800,288 1,110,200 A 309,912
201 Bt A | 4,200 4,200 0




fA: A4
NI [ YUE AHAM - S TE

thel: TZAIE2 i‘% (&9 HM
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] At oH @;OH Hl =2
01 AtR22telH 3,000 3,000 0
osg==g 3,000
—ALIsHoARG Bl BMLY
500,000 *63] 3,000
02 22294 1,200 1,200 0
OAlI & &H| S Xl Hl 1,200
— 28NS HEIHTHE ESI| HI|IEH L
S XIHI(4CH) 600, 0002 *4LH*50% 1,200
202 04 Hl 2,088 2,000 88
01 2ol 2,088 2,000 88
ORASA gXuE Y ARFE 22044l
261,000 x2H *43| 2,088
401 Al & HI L 2 0HH 794,000 1,104,000 A310,000
01 Al&H] 794,000 1,104,000 A310,000
ORAS QIAGHZ AL 20,000,000 * 1074 A 200,000
Oz IMNRI| Z&
20,000,000 * 12J4 A 240,000
OAZ L ABEZ GM)| ITH
20,000,000 *5JH A 100,000
OMBISAEE MHES SAt
5,000, 00024 *2JH A 10,000
OKRY=E2l A 222 L2 X2 AH(L=220m)
200, 0002 220m 44,000
O2E18Hd WHRIE=2 TM2I| Z2AH
200,000,0002 * 14 200,000
JIEt A2 2= 475,920 261,640 214,280
201 LEL2AH| 5,920 11,640 N5,720
01 At 2214 3,280 3,000 280
O NEAKZ| A g 70,000 «4H x13] 280
O HOHQl HOAIE EXIAIE AMMEEH Q& %
= 50,0002 *3Z *2004 A 3,000
02 222 2,640 8,640 26,000
O LS4 HE A.otE MEZ 1,200
—LSN HY SAEL Aotk AES
100,000 * 122 1,200
O2tdIe aHateEsiy 2e|a dMsig 2 &)= 1,440
— MRS (QHHWOIRES) 30,0002 *12¢ 360
—HIIRS(HEAID SEIIIIE)
90,000 «12& 1,080
401 Al & HIL 2 HH 470,000 250,000 220,000
01 Al&H] 470,000 250,000 220,000
O 51, g, HE S AIE2 |2l
100,000,000 * 14! 100,000




fA AL
NI [ YUE AHAM - S TE

thel: TZAIE2 i‘% CEREED
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
O 2totel oia=23 W o3 w3 AH6E00m)
50,000,000 * 14! 50,000
O 8ollw ¥ F50Jtw AF0/2 WS AHSE2m
) 50,000, 000& * 14 50,000
O AS® 8S3, (S2 FRHBBA (DY 7
A, 0 12J0a) 50,000,000 *14] 50,000
O LYSHHYE 27 BHYEA B3 EXSAH(L=
60m, B=25~28m) 50,000,000 * 14! 50,000
O ABHERD BL2YTA
150,000, 000& *14] 150,000
O SUUHNAIYE s+ Z2E 9
20,000,000 *14] 20,000
orMeh BdEtd A& AS 500,000 0 500,000
= 500,000
401 A& HIZ 20HYI 500,000 0 500,000
2 500,000
01 Al&H] 500,000 0 500,000
SO oINE FHUBAEAAIY
500,000, 0002 * 14 500,000
= 500,000
SEFH E2Hd SA 1,000,000 45,000 955,000
401 AIEBIZ 2OHYI 1,000,000 0 1,000,000
01 A& HI 996,400 0 996,400
O=gx=#ET 214 (L=300m, B=20m)
996,400,000 * 14 996,400
03 A& = 01| 3,600 0 3,600
Os&g3=HTZIH& (L=300m, B=20m)
1,000,000, 000%0. 36% 3,600
SHAESBAS 180,000 150,000 30,000
401 Al HIZ 2 OHYI 180,000 150,000 30,000
01 A& HI 180,000 150,000 30,000
OZOHQIE O Al & AP (Z22HE 500IHE 1 |
BAZ 1001A) 100,000, 000& 100,000
OBdHASE BT XHBA 50,000, 000& 50,000
OSZA BastAI|I2AHE (5H4E) 29
30,000, 000& 30,000
MBI WS HHI A 960,000 0 960,000
= 576,000
Al 384,000
401 AIEHIZ 20HYI 960,000 0 960,000
= 576,000
Al 384,000
01 Al & Hl 956,544 0 956,544
ONE THoHRIE X2 HHIAFE (L=100m, H=15~18
m) 956,544,000 * 14 956,544
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SA 2
X XH .
S Tt

el

_ _ pSNE e
SN EB -GS - MBAY - BES 0 & 24 o HRE2
= 576,000
Al 380,544
03 Al 2 0Hd| 3,456 0 3,456
OulE Mol X+ ZHIAIE AR 0HHI
960,000,000 *0.36% 3,456
AMAE(AEERE WA 6,205,024 3,900,000 2,305,024
Ngds=-22s2 =2 1,500,000 500,000 1,000,000
401 Al EHIZ 2O Y| 1,500,000 500,000 1,000,000
01 A& HI 1,494,600 498,200 996,400
O Mggsa-2252 S2IHA S AHL=370m,
B=20m) 1,494,600,000& * 14! 1,494,600
03 A& S0 5,400 1,800 3,600
O Nggs=-258352t T2 IHA 3 AH(L=370m,
B=20m) 1,500,000, 000%0. 36% 5,400
CHetots &gz e 1,000,000 400,000 600,000
401 Al EHIZ 2O Y| 1,000,000 400,000 600,000
01 A& H] 993,700 398,920 594,780
O Oeote =¥ S 24 (L=1,050m, B=10~40m
) 993,700,000& 14! 993,700
03 A& R0 6,300 1,080 5,220
O tetote =¥ T2 4 (L=1,050m, B=10~40m
) 1,000,000, 000%0.63% 6,300
HEs CEENS-FEFRA 2P E2HE 100,000 0 100,000
401 A& HIZ 2 OHHI 100,000 0 100,000
01 A& H 100,000 0 100,000
OMBE TEIIS-EEFRL 2 T2IH&
100,000, 000& » 14 100,000
dos 22 E2UE 500,000 300,000 200,000
401 Al EHIZ 20 Y| 500,000 300,000 200,000
01 Al&€Hl 496,400 300,000 196,400
O 8355 &2 T2 IMH4A (=359, L=15m)
496,400,000& 496,400
03 A€ 2 01| 3,600 0 3,600
O 8355 &2 T2 IMHA(L=359m, L=15m)
500,000, 000%0.72% 3,600
AE2SANRAHHE~R)IISSEA S2H4 150,000 0 150,000
401 Al EHIL 2OH Y| 150,000 0 150,000
01 Al Hl 148,920 0 148,920
O MHZSMRAAHE-R)IISSHRA &2
Jh & (L=230m, B=12m) 148,920, 000& » 14 148,920
03 A2 20| 1,080 0 1,080




SN AL
E: NYE A HEF

¢el SAAHE(AEER JHS (el &)
=] o| (= =] 1k In_-“r;:'_“:_ =
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol Ak O BlusZ

O GEH2EMRAHUE~R)IIELHRAZL &2
0

oH & (L=230m, B=12n) 150,000,000%0.72% 1,080
SHERS ~ 2DYA T2 200,000 200,000 0
401 A& HIL 2 TH I 200,000 200,000 0
01 Al&t| 198,560 200,000 A1,440
O SHSRE~2DH2 T2 (L=320m, B=6n
) 198,560,002 14! 198,560
03 Al& 2 THEl 1,440 0 1,440
O SHSRE~2 P2 T2 (L=320n, B=6n
) 200,000,000%0.72% 1,440
SEI2R ~ 2EI1FHYA TRIHH 250,000 0 250,000
401 Al 2B 2O HI 250,000 0 250,000
01 Al&H| 248,200 0 248,200
O 2TIYRA-RE15 L2 TRINA(L=60m, B=
15m) 248,200, 00021 * 14! 248,200
03 Al& 2 ChH] 1,800 0 1,800
O 2TIYRA-RT15 L2 T2INA(L=60m, B
15m) 250,000,000%0.72% 1,800
A2 A ~ DHEYER 2 TRHE 200,000 0 200,000
401 A2 HIL 2O 200,000 0 200,000
01 Al&H] 200,000 0 200,000
22 A~255|YEHS 2 TRINA (L=210m, B=
12m) 200,000, 00021 * 14! 200,000
ARE SANE 24 170,000 2,000,000 1,830,000
401 Al 2B 2T 170,000 2,000,000 1,830,000
01 Al&H| 170,000 2,000,000 1,830,000
O ABE2 A BHAE NS I (58)
50,000, 00021 * 14! 50,000
O 2EHOMEFH T2
120,000,002 14! 120,000
MBS PSTY YW YRE2(SLP FYYEN 635,024 0 635,024
2 MU R)
401 Al &2 HIL 2O 635, 024 0 635,024
01 Al& | 631,023 0 631,003
O NNE PSZY LN YREZ2(SLH 2
MEXHT MYT2 L=67m, B=30n)
631,023,000 14! 631,023
03 Al& 2 ChH] 4,001 0 4,001
O MBS PSZY LY JRZZ(SLH =Y
MEXHET MAT2 (=67m, B=30n)
635,024,0000.63% 4,001
Yo NYSH YR Ha 500,000 0 500,000




SN AL
HH: XY HE - HEH

=

Sl ZAHE(AY)ER Ha (25 &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
401 Al EHIL 2O 500,000 0 500,000
01 Al& | 496,400 0 496,400
OYgsa NYSH XY KA (L=255n, B=8-20n
) 476,400,000% 476,400
OYSH NYSH HYRHE AAEHEY
20,000, 0002 * 144 20,000
03 Al& =2 ChH] 3,600 0 3,600
OYSH NYSH XYR KA (L=255n, B=8-20n
) 500,000,000%0.72% 3,600
AR S ALt EeD CRIA 200,000 0 200,000
401 A& HIZL 2 CH Y| 200,000 0 200,000
01 Al&t] 198,560 0 198,560
O HOHB AL T2 (L=50n, B=6
m) 198,560, 0002 14! 198,560
03 Al& 2 ChH] 1,440 0 1,440
O FOHBSA~LQHZFEt T2 4 (L=50n, B=6
m) 200,000,000%0.72% 1,440
OIZZSSD HSH ¥ T2 100,000 0 100,000
401 A2 HIL 20| 100,000 0 100,000
01 Al&H| 100,000 0 100,000
O OIZES8D HS2 & TRIHA(L=105n, B
=6m) 100,000,0002! 14! 100,000
Alohze ~ BIQtER CRIIA 100,000 0 100,000
401 A2 HIL 2O 100,000 0 100,000
01 Al&H| 99,280 0 99,280
O AlQHzet-BIN E2F T2 )& (L=187n, B=6~8n
) 99,280, 00021 * 14! 99,280
03 Al& S THHI 720 0 720
O AlQzet-BlN E2H T2 )& (L=187n, B=6~8n
) 100,000,000%0. 72% 720
MBS HIERE2HA 200,000 0 200,000
401 A2 HIL 2O HI 200,000 0 200,000
01 Al& | 198,740 0 198,740
O 48S HIZR T2 (L=260n, B=10n)
198,740,002 * 14! 198,740
03 Al& 2 THH] 1,260 0 1,260
AstE HIZE S ZI0& (L=260m, B=10m)
200,000, 0002 0. 63% 1,260
Sxssng T4 (21) 100,000 0 100,000
401 Al HIL 2T 100,000 0 100,000
01 Al&t| 100,000 0 100,000
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SN AL
HH: XY HE - HEH

=

Erel SAIE (AY)ER Ha R
_ _ _ Muo
SA B HRA(SH) - MRAY - B O & o4 i HREZ
O sx=s8d ¥ TZI&(2x)(L=186m, B=6~8
m) 100,000, 000& =14 100,000
Edls 2=det F=H T20H4 100,000 0 100,000
401 A& HIZ 2 CHYI 100,000 0 100,000
01 Al£H] 99,280 0 99,280
O 8ils 24t =H T2 A (L=120m, B=1
Om) 99,280,000& * 14! 99,280
03 A& 20| 720 0 720
O 88ls 2EYet =¥ T2INA(L=120m, B=1
Om) 100,000, 000%0.72% 720
olZ2gorz-tdwal2t =204 200,000 0 200,000
401 A& HIZ 20| 200,000 0 200,000
01 Al€Hl 200,000 0 200,000
OOlRYAT-UATS HATR =&
200,000, 000& » 14 200,000
SNl 233,677 0 233,677
= 40,000
Al 193,677
TS B HEH A BHE XA 100,000 0 100,000
= 40,000
Al 60,000
401 Al EHIL 2OhY| 100,000 0 100,000
L= 40,000
Al 60,000
01 A& HI 100,000 0 100,000
Oz ZHEHBAHAE &I 6,250,000 1674 2 100,000
& 40,000
Al 60,000
FSWHEESEIIAS 50,000 0 50,000
401 A& HIZ 2 CHY| 50,000 0 50,000
01 A& HI 50,000 0 50,000
OUNEDE SRAT &7
50,000,000& * 170 £ 50,000
S NEFHIAMY 83,677 0 83,677
101 21 24H| 45,104 0 45,104
04 JIZHNIZ22XNSE+ 45,104 0 45,104
OZNSEHIAY EX0F2 26,188
— o2 39,6603 *3H 180 21,417
—2+AlH 2,000 «3H 180! 23] 2,160
—5HEE= 2,611
=UHLEER 21,417,000 #2.54% 544
Lo RYEEZ 531,000& *6.55% 35
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